No4 Eft &K (M)

123. XoMo Rt %2Rk X,
(D) H@,D%zh0E L, B4, -3)%E3M
(2) 2 #i(-1,3), (4, -2 ZEE DM & 35 M
(3) HE,DEFLE L, Eity = 2xiET 5 M
(4) x@ili e oL, HE,D)ZE3M
124. 3 5i(6,-2),(-1,5),(8,2) ) Hm L T2 AL OMNEM O X Z ko X,

125. /iR + y?2 + 2ax — 2ay +3a — 1 = 03K T2 E 2 X,

126. Mx? + y?2 = 4L Bty = 2x + kOMERRZRH~ X, T/, 3 2 & 2 0EADEE
R X,

127. Fx? +y? =1 LD P & 2 5 A(3,0),B(0,2) TT& %2 APAB OHED i KIE & /)
iz ke X,

128. Mx? + y?2 = 223 Efy = 2x + 12 LU V2O R X %Ko X,

129. 5iC(L, DZHFLETEPEETIOMHEERy =mx (m>0)D 2% A,B LT 5,
(1) =M% ABC DIitE S DI AfE%Z Ko X,
QMDEEDmDfE%ERKD X,

130. Fl(x —2)2 + (y — 1)? = 25 LD fi(6,4) I B 1F 2 0 H X% Kk X,

131, 57, )2 5 Mx2 4+ y2 = 2515 Wi X2 ko X,

132. Ry = x? £ Fx? + (y — a)? = 4D IH S ofEE % Ko X,

133. 2 FIx2+y2=7r2 (r>0) ...... DO, x2—4x+y2=2y+1=0 ...... @OndHsb, 2D
2 MO E B 23~ X



134.2FIx?+y2 =1¢(x—3a)? +y? =4a? (a> 0)DEKXT L L ED g D% KD X,

135. 2 FC:x? +y2 = 4,C,: (x — 4)? + y? = 10 @R O TR %2 ko X,

136. Mk + Dx?+ (k + 1)y? — 6x — 4y — 4k + 8 = 05ER k DIEIT 200 & T HICEHS 2
RMOPEREZ KD X,

187.2 20MC:x2 +y2 =4 & G (x —3)2+ (y —2)2 =523H 3,

()2 2D ZESEMDITERZ KD X,
Q2 0DRMEZEEY , (6,0) %L HDOFL & FEERD X,

138. (1) M A(5,2)25Mx? +y2 =915\ 72 2 KO B OHE S 2 ZNENP ,Q 35 &
%, HPQ O I kD X,
Q) E I EichHy, MoINFIcH 258 B 2 OMICH Wz 2 KOFEMOHE S %@ 1E
MRS, FAG,2) %2 2 LR,

139. (1) M A1, 2)%ELEHM I LHHC:x? +y?2 =9 DR M%E P, QL L, P,QICEITEH
COEMEZNETNL ,LET L, IPFEAZES VX ICEI & &, 21ERL LD
RROENE KD X,

QDS ORI B 2 [ CIcHT 2 2 KOOSR 2 S, TL T2 L %, EHf
STRRBICXOLTHAEREZED X,



